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{ x = (2C3-Cy)cos 2t — (2C,+Cy )sin 2t . 2
y= Crcos2t + C,sin2t

x=Cre'+Cye" . 4
y=~C1et+3C2 e5t

{x=ezt(C100st°+Cgsint) .6
y=(Ci+ Cy)cost+ (Cy—Cj)sin t
x = (C;+2Cyt) e . 8
y=(C1+C2 +2C2l) e’
x=Cp+ 3C; .10
{y=—2C2ezt+C3e't
Z=C1+C2€2t-2C3e_t

x—C1e+C3e .72‘
y=Cé +C e’
z=2C6% -Cse”

y= 3C1+C36
z=-C;+ (C;- C3)e

JCJ——3+3C26 . 16
Xy =-2-2C,e" + Cs¢* :

X3 = 1+7+6I+C2€ -2C3e"

z=C1et

{ x=C;+C;¢é . 14 {x.=Cgcost+(Cg+2C3)sint .13

menun
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{ x=2C18"—4Ce% 1
y=C183t+C26—3t :

x=(C;+3Ct)e* .3
y=(Cy-C-3Cst) &

{x=C1 e+ Cre .5
y=2Cre"-2C;e™

x=(C;+Cyt)é 7
y=(2C;-Cy+ Cyt) €

©

y=C1e'-3Cse”

{ x=Cre +Cre” + Cse?
Z=Cget+C262t —5C3e"

x=C;e’+CzeZ'+ Cse” .11
y=C;é -2C2e2t+ Cse

=] é -3C, eZ’ +3C;3 ejt

y=2Cre' + Cycost+ (Cy+ 2C3) sin t

+ Cscost - (Cot C3) sint

x=(C;+Cat)e + Cse® .15
y=(C;-2Cy+Cyt)¢é
z=(C;-Cy+ Cst) e +C3€2t

x=Cre” +Cs e .18 x=Cre¥+ Ce 17
y= C2e2’+3C3e {y=-C;e3t+(C2+2C3)e
z=(C;- 2C2)e +2C3e ——3C1e +C3€
{ x=2C1e8t—2C2—6z‘+J . 20 { x=(C;+2Ct)e*-3 .19
y=3C;&"+Cy+ 3¢ y=(C;+2C3t+Cy) " -2
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